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A continuación se detallan las respuestas del Examen de Inglés,Inglés Ujarrás/Tercer 

Ciclo de la EGBA-2013 
Selection 

1. Respuesta correcta:  B)Mary 

Explicación ​Mary is the wife of Kenneth Robinson, so it is called “La Nuera” in Spanish. 

2. Respuesta correcta:  C) brothers 

3. Respuesta correcta:  B) husband 

4. Respuesta correcta:  B)Bill and Sally 

Explicación: 

5. Respuesta correcta:  B) Father 

Explicación​:My father is the grandfather of my children. 

6. Respuesta correcta: A) aunt 

7. Respuesta correcta:  B) have different height 

Explicación:​The says that Albert is very tall and her sister is medium height. 

8. Respuesta correcta: D) thinner than 

9. Respuesta correcta:     C) are of the same age 

10. Respuesta correcta:   B) Energetic and friendly 

11.Respuesta correcta:  B) Black and thin 

12. Respuesta correcta: A) hard working 

13. Respuesta correcta: A) older 

14. Respuesta correcta:  B)is very different from his friend 

15.Respuesta correcta: B) has different personal traits from 

16. Respuesta correcta: A) a verb 

17. Respuesta correcta: A) an entry word 

Explicación: They are words that are subject of and heading for an entry in a 

dictionary. 

18. Respuesta correcta: A) two definitions 

Explicación: the text shows two different definitions of the word pull. 

19. Respuesta correcta:     B) plane 
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20. Respuesta correcta: 1. A) ship 

21. Respuesta correcta: 1. C) walk 

22. Respuesta correcta: 1. D) buses 

 

Read the dialogue 

23.  Respuesta correcta: D) Ecuador 

24. Respuesta correcta:C) Andrey and Luis 

25. Respuesta correcta: A) A month 

 

Read the text 

26. Respuesta correcta: B) ICETEL and RACSA 

27. Respuesta correcta: A)Internet 

28.  Respuesta correcta: C) Around the nation 

29. Respuesta correcta: D) Telecommunications 

30. Respuesta correcta: A) goods that people consume very fast 

31​.​ Respuesta correcta: D) different financial services 

32. Respuesta correcta: B) different services 

 

Read the texts 

33. Respuesta correcta: A) like swimming 

34. Respuesta correcta: A) likes doing her homework 

35. Respuesta correcta: A)dislikes juggling 

35. Respuesta correcta: A) like gymnastics 

37. Respuesta correcta:A) dislikes watching TV 

38. Respuesta correcta:D) listening to music 

 

Read the text 

39. Respuesta correcta:  C) a noun  

Explicación:​It is a noun because is taking the position of a direct object, and it answers 

the question what does  the dictionary contain? R/additional information. 
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40.  Respuesta correcta: C) a pronoun 

Explicación:​This is a pronoun because it is substituting the word dictionary. 

41.  Respuesta correcta: C) two suffixes 

Explicación:​Add is the root of the word and tion and al are two suffixes.  

42. Respuesta correcta: A) parts of speech 

Explicación:​ dictionary and syllables are words that taking a position in the sentences, 

they are nouns, and nous are parts of speech, that is, part of the sentence. 

43. Respuesta correcta: A)a verb 

44. Respuesta correcta: C)an adjective 

Explicación:​ It is an adjective because it is describing the word people. 

 

Look at the map 

45.​ ​ Respuesta correcta: ​D) On Madison Street 

46​. ​ Respuesta correcta: ​A) Near the theater 

47.​ ​ Respuesta correcta: ​C) Behind the sports store 

48.​ ​ Respuesta correcta: ​B) Behind the hospital 

 

Choose the appropriate alternative to complete to sentences 

49)  Respuesta correcta: ​A)church 

50)​ ​ Respuesta correcta: ​B) fixes 

51)  Respuesta correcta: ​B)takes 

 

Read the text 

52​) ​ Respuesta correcta: ​C) mail clerk 

53)  Respuesta correcta:​ C)waiter 

54)​ ​ Respuesta correcta:​ D)works hard in the house 

55)​ ​ Respuesta correcta: ​C)student 
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